L1. %0 5 0BR(TCH2ILToY 3>V L/ 4 K)/ Tension release mechanism (Digital tension solenoid)

REF.NO CODE QTY mm NAME OF PARTS RM
SB6467001 1|IDTYL/ARI= DT SOLENOID ASSY

2 017400802 2[R ILk4xs BOLT M4X8

3 028040246 2[R HFHR2-4 WASHER SPRING 2-4

4 SB3848001 2| A RFav4 WASHER PLAIN M 4

5 017401015 1|7RJLR4X10 BOLT M4X10

6 021400306 1(3>a7Fvh4a NUT 3 M4

7 025040332 1eEZYHRE L4 WASHER PLAIN L 4

8 SB1179001 WL/ 48oyiay SOLENOID CUSHION

9 SB4380001 1NIL/ARM) Y445 SETTING PLATE SOLENOID

10 SB0794101 1 7oiavyb /AR DT TENSION SOLENOID

11 062500816 2|+ ~15X8 SCREW PAN M5X8

12 SB6261001 12+ K3X50 SHAFT 3X50

13 SB1192001 2(MhILARDIA DT a TENSION RELEASE BAR BUSH

14 SB0787101 1YL /AR AN — SOLENOID COVER

15 060400516 2[/"1k4X5 SCREW BIND M4X5

BAS-311HN/326H-406

46



